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21. Why is the debate about whether men

arc Sronges than women unclear ?

(a) Beca both genders are equally

S all aspects. given.

(b) BEﬂa;ﬂQ the word “strong” rmay 25. Vitriolic
<« mearbmany different thing

® 0T e _la) Imaginative
_p}_]j Becawse men are always stronger

= than §gmen. (e} Vivacious
mj;': Beca strength is only measured 26. Candid

L() by phySical power. la) Kind

excel at Wﬁﬂﬁl of the following ? ' :

N| oo | 27. Profane

{a)' LivingIonger.

i Al Assert
(6) Tas iring precision. &) :
_EJ Llch:H}.EﬂVj’ objects and physical (€) gth

labot 28. Interpolate
'ﬂ] Resistance to disease. _{ay Clarify
[c) Reverse

23. F!@ﬂt SHE%~-d.u women tend to have
©¥er men, %‘cﬁ:diﬂg” to the passage ?
Theyyare better at lifting heavy

objects. _.
They|live lﬂﬂger'ﬁnﬁs have stronger )
resistafice to disease. :
They %‘1 strike forcefully.
They]_[%re stronger in b )

Nadir

s s

(¢) Lowest point
nh'ectium {30-34] 2

Aa1! -
......

Directions (25-29) : In the [ollowing

questions, out of the four alternatives, select
the word nearest in meaning to the words

(by Sprightly
(¢l Abusive

(b) Courteous

(d) Frank

_(b} Benefit
(d) Desecrate

(b) Tnvestigate

(d) Insert




fﬂg : - s Blood is a type of
Ty (a) Epitl@a\ tissue

i (b) Mus@: tissue
0 (<) NEW@ tissue

lﬁq _ : [‘(dl. Cr:mrﬂ'live tissue
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OR% .5 Lub-DubCEbund is produced due to

action of iV
. ——
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: TEJ
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W o 7

() T JMETHH

(b) WRGR TEEHATE U

o) T A DT HrST

(@) amErd R e

47. Which one of the following associations
was founded in London by Dadabhai

Naoroji in 1866 7
(a) The Bengal British India Eum:tjr

(b) The East India Association
(¢) The British Indian Association
The Mhﬁmﬁ ﬂaﬁv;-; Aﬁaﬁniﬁﬁun-
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samone the following is the
BolIslands of India ?

daman (b) Nicobar
Parren (d) Lakshadweep
o ﬁﬁﬁ‘#ﬁ*ﬂ]’ﬁ’?ﬁmﬁiﬁr,
L . Eprq’__ﬂag-??
(al  3vEHH (b) FPER

(c) &% £ | L})/m@q

51. Which one among the following is not a |
Fundamenta] Right under the
Constitution of Indja ?

(a) Right to equality
(b)  Right to freedom
(c) Right to citizenship
(d) R:ght against explmtatmn

¥

23,

The ‘Basic Struct
cnu_nclatﬂd )

Who among the followi
member of the Drafting,

the Constitution of India =

(a) B.R. Ambedkar
(b) K. M. Munshi

(c]  Krishnaswamy lye
(@) M.K Gandni @
A P 'ﬂTi't-r
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& gﬂ ASEAN 7
(a) fﬁ"l‘@ (b) e
(c) “W%% *{ﬁﬁ/fagﬂﬁ -
{a-the tl:nﬁls, ‘G’ stands for
‘f_@; G“"'E.‘@ (b) Geographic
E_gh Gﬂf'*ﬁ:fﬁ \ g~ Geological
Lafs v H o Toa s & fog 2 ?
la, Tﬁlg (b) Rrmnfin

11?:"‘1%33 @ Prieifea

leh
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__di%fcrcnce -obtained by subtracﬁng ¢ e
i Sy =

| O ot

- ffom 9= By50?

oo 9 +—

(bj 2045
(d) 2450

58. Two numbers are in the ratio 1

What will bé;.hhtaincd- by multiplying the

e TR T SR Pl 450

o, TR :

their sum is 240, then what 1s their
difference 7

a) 120 (b)
() 100 (dy 96
58. E‘Tﬁiﬂlﬁl::ﬂ%:ﬁ‘jﬁﬁﬁ%lﬂ
T drThE 240 ®1, o R0 SR
foeem & 7?
(a) 120 (b) 108
(¢) 100 (dy 96
59. A alone can finish a piece of work in 20
days while B alone can finish it in 25
days. Both work together for 5 days. Then
B leaves the work. In how many days can
A alone do the remaining work ?
(@ 11 ®) 13
(¢ 15 (@ 17
59, A T TP o @ 20 R ¥ WA
! W = 7 T e g1
| feee s R Fd T & R B W
e . ey e W 8| ¥y B D1 A

108
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60.

5itti“g b
i Sitting immiédiate right to E. F is not at

_ 67.

68.

69.

pirection (66-69) : Read the following

spestions

carefully and
an
given'ﬁeluw i SHEE
-

the

Si..u\'- fncniﬂr':ﬁl E. Cy D,- E End F Aar
{

ing in @ row facing towards North. C is

etweenfAdand E. D is not at the end

oht end. LT
the “5 O\
Hpw many-persons are there to the right

-

b |
One

ofsD ?
(b) Two

(d) Four

(@
(¢} Three

. - —
Which of the following pairs is sitting to
one side O@?

&y FB L0 (b) FC

« FE O3 (d) AC

-

Who is Siting immediate left of C ?
A E

@ ®

ic, B (@) (d) F

1 = |

(Who is at the right end ?

fa) A (b) B

B

o

)

68, C @ SF AN TRH B 43T B 7

(a) A

(c) B L

69, '-ﬂ@%ﬁﬁmﬁﬂﬁfﬂ%?

(a) A~

l€) E

Direction (70-72) :
information and answer

B is the mother

son D and & daughte

uncle of D.

70. Howis A related to D 7

(a) Cousin

() Maternal

Sister
() Niece

! .

71. HowisE related of F ?

(b) E
(d) F

b) B
(d) ¥

Read the following
the questions given

f A. C, B's sister. has &

o0
r E. F is the maternal

(b) Nephew
Brother

Uncle (d)

(b) Daughter
() Wife

ephews does F have ?

T o '.|-I y
B i < III'-E‘::";'P‘? b

ol =
= =




In each
E Questions, find out how
pairs of letters are there in the given word,
cach of which has as many letters hetween
them in the word as is/are between them in
the English alphabet.

of the
many such

73, NECESSARY

3 (a) One (b Two
: ' (d) Four

(b) Two

(d) Four

75. ORIENTAL
(a] One (b) Two
(c) Three (d) Four

frasr (73-75) : F=fofed & & gog
mﬁﬁtfﬂwmﬁaﬁ P U ey o

9EHI] H $% §g w1 & 7
73. NECESSARY |

-

(a) U&

(b) &1
(c) (d) =R
74. PREAMBLE
(@) T (b) @I
€ (d) @
75. ORIENTAL
C
(c) i

101

;c"‘-'h, FoT=1ep qrg I+ Bl gof F‘-’ MGG 7 ST ||

76.

78.

is called :

(a] Ins trur::tar

A NA A AN

- (e om0 A

(a}] Magnetic drum

(b} Transistor :
le)] Vacuum tubes Q\
(d) IC L

a]  gHEDIY gH (D)
() famg SR} (d)

A source program is direet

(a)
(c)

Compiler

Assembler




i 0 PrEST “’m‘w
g S f*? C"“] STERT ey : SIS M (d) ST
\ 4 y % ) 3. Every web page has an address
! (a) > |:1'J] T[’]‘q;q associated with it This address is
\ | -. wﬂﬁﬁn {d-l W tﬁ known as
R o &) URL o 1P
x %D. w“hit h of fD]lDunng comm
-t ﬂﬂd h}r&ﬁlmk in a dﬂtum:rﬂd?]s Used le) TCP (d) Browser
\ za%(?trl?_}? (b) 83. X A5 U & W Y w1 ST A F
— QL R R BT i e £ |
(c] trl =+
0. SPo a"ﬁl Tt ETerr\rFq‘{za S @ ferw (c) TCP (dy FEOR
0 ﬁ-’l"{;l H ﬁ%ﬁ DHIS HT ggm R k. . -
T 1__{‘:) A TSl 84. A popular protocol for sending e-mail is
- i ) (a) TCP (b) UDP
Ctﬂc@ (d) Ctrl+v 84, i Ao B U TH ABOA AR
31. T‘hﬂ t}’P MEmory which is fast and €
rempﬂr stores the data which are Jar TCP (b) UDE
mmedmtely required for u y |
i eq se 1s called © SMTP (d) HTML
a8in o !
~ | ! 85, MAC address 18 ...coiviesiannees bits long.
G\l AA
[a} M HDPR= (b) ROM - N
05 0 (a) 24 (b) 48 .
n;.m RAMY) (d) SSD. o124 (d) 64
B1. ”’”é' b 85 ﬁmimcyﬁa ............. ﬁgﬁﬁﬁiﬂf%!
(a) 24 jois 3t
¢ (o) 124 (d) 64
m RAM™ (d) $SD cumpenaates for differences in data rate
e e AT and data flow between devices is known
1 Ly wﬁttﬂﬂ'm = N AR O
() Bus (b) Channel
(d) Buffer
aveR &5 Sl SR @ A
% T8 e 8
(b) A




g0 Which of the i
.;:perating syslerni

Rl acement

"rotocol

window to another is ca%a
(a) Task switching

(b) System call

{c) Tool bar 90. U% 39 famsr W E;q%tkanqq“
. Rag s 9% wlbar T < Gﬂ—rﬁ E :
88. wzﬂl%?»ﬁaaﬁgs‘fﬁgamaqﬂﬁﬁg “(a) <r=B Rafr
(a) ¥remgee fiq
CIREY

LIS
(d) T3 Frey

|

|

(c) Moving L I‘
({d] None of these 1|




